EARAROBEEIERT — 2 N— IBISH —F

201952H3H (H) 20E1AE2H

mC2—34.‘ﬁH C2 ¥5%R4%kL ERIEE IR
[AE£] 1%&:210,000”M ~ 2#%:63,000” ~ 37%&:21,000 ™  43%&:13,000 M 53 :8,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NS . RHEEC . — . — FEFE (£8)
1ls|5| 7Y V1 H > 7 5.0 ?4_5)5 >z 8.0 ! :fg BEN .
L2917 hhHL> b BiLTF4T24— MBS
. i 6 | RBEZ 54.6 1-1 3.8 — 1 460 | JIIBESF (1EE)
2 3| TAA 54.0 (7E) (122) | FEER
:a—I> 7> B:¥&2—btuday ry o aIEEMASH T avi
o e =i _ - 7 - I (£2)
3 o | Y =3I 7 54.0 5&2 43 3%6.7 2 :ig /J\%E%j( =
L:ZXgr T bt —Frp—K=FK B:7ARLTE-ZX pNCTie]
. g L _ T EE
41| FTTIuAC b # 6 | BIIRR 5(76)4 54 |37.6 5 | 469 E;ﬁgﬁ (EH)
RTp—3IUTL BFAFRTATLT O e g
HAME . — . — BART (£8)
5lglg| 7¥HTTUZ i 8 4 5(71)6 3-5 38.1 8 <4+312) *Kﬁié 5
R:¥ayIxRTLd B:T59 09949 F itie]
— o /I &% . — . — hEHE (£E)
6177 F7A7O4 K 9 56.0 (1571/92) &8 5.2 6 ?f; IBEA =
L:NnN—E>T+v— B:Lh2 J =Y Tr—L
. HIKFRA ~ - HIEF (1£H)
7lglgl #1>amzs—2 o7 | kKR 52.)1 6-6 37.6 7 (4_426) HIEE (e
RN=V7514 B4 T1T1T7> ®OEE
o= = LI AER & - - FIEF (BR)
8 6| F L3535 K- # o6 | LA (518/.22) 7-7 37.5 3 <5+2“7) s
LI ATA—H— BITULITETZ * BE
N . 4 5 | HFEA 1:01.9 9-9 40.4] — 9 364 | HABPALE (1£8)
9 4 FAI—FTA4 R 54.0 (21 4) (-3) (#%) 71“:‘/2‘"'5
R:ARN=—3I>Th—L B:KRUTAALTA2R EELORAES
® I—F—@EBIERL
13—-7-
23—7F—
30—F+— 3,5,9,2,1,8,6,7,4
41—F— 3,5,2,1,9,8,6,7,4
[ N5
B 5 1,960 714K 3-5 240M & 3-5 1,210 &R 2-3-5 200
# B 5 140 25 260 B E Bab) 760M EE 5-3-2 7,250M
3 100 2-3 120M B H 5-3 3,400M
2 110/

ABICOVWTRDTEEERROODE. TR LIV,




